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1. Examine the following data of Middle English and Modern English. State, in prose, the changes
that have occurred in the history of English based on these data. Make your statement as general

as the data permit. Please also state the changes in terms of phonological rules. If rule ordering is
significant, indicate the correct order of the rules. (20%)

(d) *Pairot; hurt themselves.

(e) *Poirot; hurt myself;.

(f) *Poirot; thinks that Miss Marple hurt himself;.

(9) Miss Marple thinks that Poirot; hurt himself;.

(h) Poirot; invited himself;.

(i) *Poirot;’s sister invited himself;.

0) Le [ij [ne Poirot]’s brother] invited himself;.]

(k) *Poirot; believes [cp that [|p himself; to be the best]].

() *Poirot; believes [np Miss Marple's description of himselfi].
(m) Poirot; believes [p any description of himselfj].

Middle English  Modern English Gloss (n) Miss Marple believes [np Poirot;’s description of himself;].

moe moe moth Then, examine the following data of reciproca verbs in Mandarin. With respect to locating
kros kros Cross antecedents, reciprocals are considered the same as reflexives. Can your rules for English
Sft Sft soft reflexives also work for the data on Mandarin reciprocal verbs? Explain your answer. How does
foks faks fox duifang ‘the other, each other’ in the following data find its antecedent? (RCP is an abbreviated

kot kat cot form for reciprocal prefix.)

stp stap stop (o) [zhangsan lisi]; hu-cheng duifang; wel hao pengyou

bolt bolt bolt Zhangsan Lisi RCP-call each other as good friend

tol tol toll ‘[Zhangsan and Lisi]; address to each other; good friends.’

kol nol knoll Rz Fe IR ED -

boxt bot bought (p) [zhangsan lisi]; hu-cheng [wangwu zhaoliu]; zhidoa  duifang+;  zuobi

knot nat knot Zhangsan Lisi RCP-clam  Wangwu Zhaoliu  know each other  cheat
doxtar dbtar daughter ‘[Zhangsan and Lisi]; claimed that [Wangwu and Zhaoliu]j knew that each other; cheated.’
mold mold mold SEZ e 33T AN i (R .

dbg dag dog (q) [zhangsan lisi]; hu-cheng  [wangwu zhaoliu];  zhidoa  [xiaome heaxin]k ...

kandao duifangi/*,-/*k zuobi
Zhangsan Liss RCP-clam Wangwu Zhaoliu know Xiaome and Axin ...

2. A discourseis not just a collection of any sentences. The sentences in a discourse must be related
to each other to be a coherent discourse. Examine the following discourses. Explain why some
discourses you consider coherent and why the others you consider incoherent. And, for those see each other cheat
incoherent ones, try to correct them and make them coherent. Please aso explain why your ‘[Zhangsan and Lisi]; claimed that [Wangwu and Zhaoliu]; knew that [Xiaomei and Axin]xk
corrections can render an incoherent discourse coherent. (20%) saw that each otherij+ cheated.’
(@ My mom will cometo Chiayi to visit me tonight. | am going to meet her at Platform 1. R Zuw I AT A ] FoR G g TS TE .
(b) John arrived in Edinburgh by train. Max’s hair was black. 4. |s babbling a stage of language acquisition or is it actually pre-language acquisition? Justify your
(c) We went to an expensive restaurant last night. The waiter was very nice. answers. (10%)
(d) We went to amovie last weekend. The gentleman was very nice. 5. What are the tr;ematic structures of the verbs in the following sentences? Why do you think so?
(e) Jade' sfriend will cometo Chiayi to visit her tonight. Shewill meet him at the convenience store. g)a?;?;v(::l i/:l)the big swimming pool in the park.

3. Examine the following English data and, based on the data below, formulate rules to locate the

tecedent for areflexive. (30% (b) Mary jogged in the park.
e i o a.f v (3% (c) John found Mary’s watch in the closet.
(@) Poirot; hurt himself;.

- . (d) John planted several treesinto his backyard.
Eb; Miss Mharplﬁ h:erltfh' mself; () John watched TV in his big house.
c) *Poirot; hurt herself;.



